

## Additional Funding Request

<b>VA049</b>	<b>CSS# 31445 WO# 14536</b>							
Description of Repairs	Labor and materials to replace motors in fan coil units, assets 3Y127, 3Y128, 3Y129, 3Y130.							
Diagnosis: Initial Work Order	The motors need to be replaced in Fan coil units Asset's 3Y127 , 3Y128 , 3Y129 , 3Y130 . PM Credit \$250 for each asset will be applied							
Diagnostic Fee	<p>\$ 240</p> <p>Labor \$80/hr x 3</p>							
Additional Labor Cost to Perform Repairs	<p>\$ 640</p> <p>Labor \$80/hr x 8</p>							
Additional Material Cost to Perform Repairs	<p>\$ 1,204.96</p> <table border="1" style="margin-left: auto; margin-right: auto;"> <tr> <td>2827P 1/10HP 115V DS PSC 1050R 4.8 AMPS</td> <td>4</td> <td>301.24</td> <td>1,204.96</td> </tr> </table>				2827P 1/10HP 115V DS PSC 1050R 4.8 AMPS	4	301.24	1,204.96
2827P 1/10HP 115V DS PSC 1050R 4.8 AMPS	4	301.24	1,204.96					
Total Cost of Repair	<p>\$ 1,084.96</p> <p style="color: red;">(\$250) CM credit applied x4</p>							



# WORK ESTIMATE

CSS #:

Work Order #:

Emergency

Urgent

Routine

Company Name:	Tidewater, Inc.	Facility ID:	NY051
Contractor POC:	Adam Colopy		
Telephone No:	740-819-6207	Building/Location; (e.g., Classroom/Room #)	
E-Mail Address:	<a href="mailto:adam.colopy@tideh2o.net">adam.colopy@tideh2o.net</a>		
Assigned Technician(s):	Will Schultz		

## DESCRIPTION of WORK and EXPLANATION for REPAIRS or REPLACEMENT

Labor and materials to replace motors in fan coil units, assets 3Y127, 3Y128, 3Y129, 3Y130.

LABOR/MATERIAL		MATERIAL/ SUB UNIT DOLLAR AMOUNT	LBR/HR \$80	LINE ITEM TOTAL DOLLAR AMOUNT
ITEM	QUANTITY			
Diagnostic			3	\$240.00
(\$250.00) CM Credit	4	(\$250.00)		(\$1,000.00)
2827P 1/10HP 115V DS PSC 1050R 4.8 AMPS	4	\$301.24		\$1,204.96
Labor			8	\$640.00
<b>SUB-TOTAL COSTS:</b>		Materials Total	\$1,204.96	Labor \$880.00
		<b>TOTAL</b>		<b>\$1,084.96</b>

Page #: 1

Time: 14:09

\*\*\*\*\*  
\* ACKNOWLEDGEMENT - Quote Order \*  
\*\*\*\*\*

CLAY AIRECO SUPPLY, INC.  
3100 W. CLAY STREET  
RICHMOND

VA 23230

(804) 359-2468/

CUST#: 29480 SHIP TO: Order Date: 07/23/21 Whse: 026 ORDER#: 8700595-00

Placed By

Taken By Salesrep Out  
DAMC 99

BILL TO: (410)540-8700 FAX#: 410-579-1685  
TIDEWATER, INC.  
6625 SELNICK DR.

SHIP TO:  
TIDEWATER, INC.  
6625 SELNICK DR.

ELKRIDGE, MD 21075

ELKRIDGE, MD 21075

Customer PO:

Special Instructions:

Ship Via: PICK-UP Request Date: 07/24/21 Ship Date: Terms: \*\* COD \*\*

Line #	Product And Description	Quantity Ordered	Quantity B.O.	Quantity Shipped	Qty Um	Unit Price	Net Price
1	2827P 1/10HP 115V DS PSC 1050R 4.8 AMPS	4			ea	239.08500 *	956.34

1 Lines Total

Total	956.34
Taxes	57.38
Invoice Total	1013.72
** NOT AN INVOICE OR RECEIPT **	

THANK YOU FOR YOUR BUSINESS!

Last Page

**Dayton**

Room A/C Motor

MO#

NO **4M038B**



HP 1/10 RPM 1720 5 Spd FR 42Y2 LR39894

VOLTS 115

AMPS 4.8

PH 1

**2L3**

Hz 60

ENCL OPAQ

INS CL B

E47479

Thermally Protected

40°C Amb Air Over Cont

MTR REF F48H00FHJ-2677

MFG NO G983

Common C White

High 1 Black

Med Hi 2 Yellow

Med 3 Blue

Med Lo 4 Orange

Low 5 Red

Reoil Brgs SAE 20 Oil

Continuous Duty: Every yr.

Intermittent Duty: Every 2 yrs

Occasional Duty: Every 5 yrs

Copyright for Dayton Electric Mfg. Co. Niles, IL 60714 USA

UNIVERSAL  
SER 1114 ADJUSTABLE ELECTRIC  
FAN 1. 100-1500 RPM  
FAN 1. 100-1500 RPM  
PROTECTOR 1. 1114 4442 1411

UNIVERSAL ELECTRIC CO.  
223 11th Street Mod. DAE12444 U1000  
214 & 2240 S.P. 115V 60HZ 1.0A 100W  
SERIAL# PROJECTED L

UNIVERSAL ELECTRIC CO. INC.  
1125 DEADERICK AND PARKERSON, LA 70606  
1-800-222-1111  
1-800-222-1111

